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About a method for the distance to a far-off tree.
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HEEER English translations HEFER  English translation
! Alittle  3cm
I have a length of the shadow of the tree reflected in the ground of :
two length to demand the height of the standing tree. 1shaku 30cm The height of the fan and the
Then | measure the shade with the fan of one shaku. ‘14length i ratio of the shadow are 5:4.
It length of the shade is eight shakus, | calculate using the radio Llength 300cm Because the length of the
and understand that the height of the tree is two length five shakus . shadow of the tree is
Or | know even the stick with a heart to guess with the fan of two sun s . c identified as two length
of one shaku. Sshaku (600cm), | know the height of
This is level ground. tree the tree with two length 5
Or there is a tree in the banks, and there is a groove in the bottom, shakus (750cm) using the ratio
and a shadow does not become beautiful immediately. 2length fan of the fan.
| know the height to a root from a tree from a place to look at. "1 5shakus Y
Then | can know the height to the under a tree. J 1shaku
Of these, | can know the height of the remaining tree when | reduce . 2length | L 8littel.
the height of the bank.
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Using the height of the fan, the length of the shadow and the length of the $EMTEL M ST,
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SHOBFEE Future’s problem EMNTETEMN DT, Kiku Buntousyu
FHERREBEBE S MNYDTTBIE, The meaning was checked every each archaism, AR 7 AR
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Make the modern language easier to understand. the original into a modern translation successfully .But you might X R ORE

. . be able to comperate in a group and complete it until the end.
Make is mathematical in the contents P in a group piete i unt Author : MASHIO

which can be understood more. HE:-P=E Tokiharu



